T HI 6 4

— RN L RS D & &t

RS E

— Y HIEANL K S D S &Rt






—IRM R NZ R SDSE AT FIE B4 &

(BLPRRE)

A K 4 (E " %
ER = W R & B

y A& & &

) #Z ' A R

" R F =

1 = I B R

i S (= I

y I B &




1 SM6F4A1H»L4F 649 H 9 HOMEMICEOL T, BEEDUNS
X DIDITRIC K o TRZBEEOREIT., £2,613MTH 3,

1 BHOFFE. EERBEIBHOXIAE OhofTHIC X 3 BA ORI,
43,105,154 H¢% 3,

1 HEDERKMEDLEIT. £ 42,132,662 HTh %,

1 FREEMEIGE,. € 42,132,662 %, EREBLTED DL LT AL

b, REHICFEST 3.

LRRDOLBIVFERBT L2 L 2HET 5,
AM6FE9IA9IH
— MBI AR L B & Lt

BEAN 4R FHK




B s B &

SFn64E9 A9 A HLE (EA7:[)
B B W IRy 1R
I EEDOH
1. ViENE e
HEiRe 32,132,662 34,702,659 A 2,569,997
R4 0 4,220 A 4,220
MENVEERET 32,132,662 34,706,879 A\ 2,574,217
2. EEERE
(V) EAR{E
JHE 10,000,000 10,000,000 0
EARMERE 10,000,000 10,000,000 0
(2)FeEERE
BULER | 4 EEE 0 1,039,999] A 1,039,999
BMEEERF 0 1,039,999 A 1,039,999
(3) F D EEEE
=27 0 0 0
EHLWIERR A 0 1 A1l
Himas B 0 0 0
11251k oh 0 0 0
TOMEEEERF 0 1 A1
EEEEA 10,000,000 11,040,000 A 1,040,000
EELSE 42,132,662 45,746,879] A\ 3,614,217
I BEDHE
1. fighAME
K& 0 296,903 A 296,903
RY& 0 214,773 A 214,773
R4 0 0 0
REIAESR 0 511,676 A 511,676
BIESE 0 511,676 A 511,676
I TEBREFEEDER
1. {EEERRE 0
ZEEBE%E 0 0 0
H&E4& 10,000,000 10,000,000 0
T8 E EBRRIEEAFT 10,000,000 10,000,000 0
(OB EARRFEE~DFE Y EE) 0) 0) 0)
OLEEEEE~DTEL%E) 0) 0) 0)
2. —ARIERRESEE 32,132,662 35,235,203| A 3,102,541
OBLERME~DIELY4E) 0) 0) 0)
OLEFEEE~DIYEE) 0) 0) 0)
IERMEESF 42,132,662 45,235,203] A 3,102,541
BE KR N ERMESF 42,132,662 45,746,879 A 3,614,217




M E B &

ST6EEI AR HE (Ef7: 1)
= H & H
I BEDH
1. VREVERE
B&TEE
@ [ 32,132,662
mEVEESS 32,132,662
2. BEEE
(1) AR E
raFEe I 10,000,000
EARMERE 10,000,000
EEEEST 10,000,000
BESR 42,132,662
I &EDE
1. JREVELE
Kih& 0
R 0
& 0
mEhAEEE
EE&EEF
BEEE 0
IEBRRAEE 42,132,662




TH64E9 A9 H

il

HEEER A E
DI6FE AR 1 BNLSFI64E9 A 9 AETOEREEICRITAILHDOELASE
MLELIZDOT, DR ELZ TROLBVHENELET,

KREHIOWT, IREEOBEEEHICLY, BEELToRER WFNbEIEICEE,
WESNTHWEHDERDET,

Utk
BEAEMHE FfM6HF9IA9H

BEEGET —RMEEAERSDSEAR
=

HR








